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Aufgaben-Quickname: 7974

Aufgabe 1
Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

@@@ b) 37 — (=36) = 278 A ][73]
c> < —[2d ]R8 a) 25+< 1) =29 [21][21][29]

) 20— (—34) = [63]F]F][63]  £) 15— (~26) = [41]i]aa][a1]
g) 7 =\/¥ZH 28]|28147]  h) 11+ (—36) = A7] -25]| 251/ 47
i) 11— —36) = | A7|25]25][47] ) 24+ (—12) =[,36][-47][12] 36]

Aufgabe 2
Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) 49 — 460 = [-509]-411][4+1][569]  b) 213 + < 127) [-340][86][86][ 340]
¢) 257 — 334 = [ -59T][-77][ 77 591] d) 300 + (—70) = [-370][-230][230[370]
e) 134+ (—65) =[-199][69][69][199]  f) 39+ (- 300> [-339][-261][261][339]
g) 224 + (-33) = [-257|-19T][101][257] ~ h) 77 — 84 = [16T][-7 ][ 7][161]

i) 27 — (—109) =[-136].87|[87][136] ) 457 — 275 = [.737][-187][182][73Z]

Quick:
7974

Aufgabe 3
Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

) 16 — (—11) = [-27][.5][5][27] b) 50 + (—48) = [-98][2][2][98]
) 54— 57 = @-@- d) 9+ (—49) \/?g [-40 ][ 407 58]
)47+( 23) = | 70| 241 24 | 70 f) 54 — (=83) = |-137]|-29]| 297|137

Aufgabe 4

Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

) 16+ (— @@@@ b) (~32) + (~28) = [-60][4][4][607
c>< 0) + < =[-0]29][29][a9] ) 26—< 28 = [oA17][2][54]
e)3— (-2 )=\/‘>”6H%\L%ﬂ\30\ f) (=26) + (—10) —! -36 46 | 167] 36
0) 12— (-14) = 26] 7 Z][26]  h) (~10) — (=7) = [7][-3][B][3]
i) (—38) — 26 = |-64] 47| 17] 64] )3+ (- 13 \/%H 10107 167

Viel Erfolg!
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